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‘ af the gollowing 18 the | '
1. Which one of the fllowing is the nmtony of WO :{E meAning of the idiom "A r:t] o
the word written in capital letters in the “'FP:?'__fm . 'l-'=l1c_-,
sontence “The situation was !'JM':.‘PHH}EATEH day ¥
by the evente which fallowed the floed™ 7 (n) Aday of memory
(n) Dt"l(‘.riﬂrﬂh'd (h) A f|_-|511_‘|ﬁ|3r1 day
by Improveds (e) AR important day =
(e) Worscned » (dy An ordinary day
(d) Corrected ; :
sa e 7. Which one of the following 15 the ..
2. Which ene of the fallowing is the gntonym of slpprUI}ﬁlltE meaning of the idiom Tife i o
the word written in capital lotters in the raw ? E .
sentence “The OBVIOUS actions of the lender {ay Lifeat its most difficult point<
gave way to rumours’ 7 A :
Fosky (hy Lifeatits hest imes
(a) Noticeablee |
& {e) Lifeat the younger age
(b} Evident ) theold
{c) Obsqure gy Tofe at; the 01eier S58
(d) Unecasy g. Which one of the following is the p,
3 7 vins 5 Dy
3. Which one of the following is the antonym of apprap‘r‘;ate meaning of the idiom ‘Go up i
the word written in capital letters in the flames:t
. gentence She - always &P pears to. be {(a) Comeout with flying colours
STOICAL"? (h) Come ouk with sadness
(a) Passive {¢) = Celebrate one’s Buccess
(b) Excitable « (d) Come toan end suddenly «
(¢} Enduring
(d) Tolerant 9. Which one of the following is the ny
‘ appropriate meaning of the idiom ‘A ﬂigh-‘r':
4. Which one of the fallowing is the antonym of fancy' 7
the word written in capital letters in the : :
. sentence “He IH'BRUT{ET" {a) An -ldEa which chows a lof
(a) | Solvent ‘\,:______,.,ﬁ-- imagination, but is not practical 1«
(b) Insolvent (b) An idea which, shows a lot ¢
@ B k. : imagination and is very nseful
@ ‘Pooe : (¢) An idea which shows no imaginatin
2% 2 but ig very practical o
5. Which one of the following is the antonym of @  Anidea of man of letters
the word written in capital letters in the|,q o i
sent,eru@- iTheir alliance is a LETHAL . lU_iJl hmh fﬁf-‘, U'f the following is the me
combination” ? ; appropriate meaning of the idiom Tigh |
: dawns’ ? il i
(a) Toxicd o~ A 3 i
() Dsadlye {a) Dawn L _ 4
Ll (i U nderetan o soristhi
(¢)  Life-giving ! {f Un o T - something suddenly 1"
| C T A e R e T s
(d) Accepted ; ; U“d someone easily ‘
( '.] Dlﬁtmﬂt"ﬁﬂmmne fur nﬂthlﬂg - i
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of the following 18 the synonym g
written in capital letters in .
wThe Enmmment felt lh&t_gumﬁ

1. 1
Which one. of the W'I'I.icl'l one

sentence A fuy following paris of the 16.

OTganizations are working

with t} i :
into m:;:gr?ﬁf:?l :E;L“i:.zr:?:'uh Lo eonvart woves ;J'E]“Tél;f.‘ﬁoﬁ*mjr actions need to he
(al A o : 5 LT " i
f.l::1 ;:_li::‘uull:h!drt_rum.tirms are working # :mtml‘_-;"l. -.:Ii,ainnl.‘ll
) tothas 'i irection of research ‘.u] :ﬂ 1) - :
{d) No ar BIL waves into ENETEY (bl L‘an}_ e

Tor (e Long-tett=

i ted) _ Short-term

/12, / Which one
: the following is the synonym of

of the following pu.rll:s of the
n capital letters in the

sentence
Grab the opportunity in attracting 17.

Which one of

written i

regular inc o iy bt H

our 130pulaT'rt]'rgirrl':‘;15:']'?::;n:l?ige;:mrf_ful:ﬁuwr 2 :;:t:—lj:gd "UO\"EWUS_};ESE leads  to
(a)  Grab the apportunity in attracting uneasiness in one’s 1ife™?

t.-h:l regular income by hccominé’x '@ (a) Liking

¢} adistributor of our 'puphlzfr'j;ﬁmﬁlu h) Greed

(dl Noerror (¢) Generosity

A (d) Ambition
13. Which one of the following parts of the

sentence “The real roots of the political nature |18, Which one of the following is the synonym of

n capital letters in the

of education are to found in the educability of the word written i

the individual” has an error ? sentence “Everyone wants a8 PLAUSIBLE
{a) The real roots of the political nature approach to the problems™ ? :

(b} of education are to found {a) Unrealistic

(¢} in the educability of the individual (h) Meaningful

(d) Noerror {c) One-time solution

14. Which one of the following parts of the (d) Reasonable «
sentence “Despite being a major substitute for | 19 which one of the following is Mo womioym of

fossil fuel, nuclear power steadily declining in ; : : :
: : : : s 7 the word written in capital letters in the
; " 7
salience during the last/déeade"has an evrar * sentence “The decision to EXTERMINATE
(a) Despite being a major substitute for him was unwarranted” % e Lo
fossil fuel, A e =
(b) muelear power steadily declining L g
P s 3?.- n‘g ('h':l Rejech\‘ -

(¢) in salience during the last decade b |
{c) Eliminate -

{(d) Noerror
(d) Promote

15. Which one of the following parts of the
sentence “There are various factors involved in

20. Which one of the following is the synonym of
the word written in capital letters in the

human disintegration, and various ways on
which human beings disintegrate” has an sentence  “The  group  leader. said,

. PROVOCATION of any sort would lead fo_

(a) There are various factors involved . action”? .+

(b) in human disintegraﬁdn-, : _ R (a) Incitement

{¢) -and’ various ways on which human oAb) mPtmne
beings disintegrate {c) Angers

(d) Noerror (d) Jubilant
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2.

FT THA B 7
(a) ¥ 5,000
(b) ¥ 25,000 -

{c)’ "% 50,000

(@) ﬁﬁ'ﬁ‘qﬁw LA

93, I % T G A A A S FA
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26.

@mfﬁﬁ,ﬁﬁmmm
sy . B

2005 % dwd

FAIW ATH BH Ry -&a“n—ﬁ‘;ﬂ: )
FaeTEe WA S 2 et g
(a) 7oL

(b) 48%E °

{e) 24 HE

) 1282

geT 1 AT AR, 2005 3 s
¥ fou aEa w5 A mmlﬁaﬁ
o 2T AT BT 7 B
1. AT HY =

o aquﬁﬁrmaﬁm
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(a) +ad 1
(b) hed 2 3 3

(c) e 13 2
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g o e AR, 2005 F iy
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21,
:‘L Dl:v‘l'sun “’h(l dég; FA“T-B
Hformatip, undep 1ummﬁ to obtain ooy |24
make: gy applio he RTL Act, 2005 has to
Preseribag feo Wﬂtmn‘ tecompanied by a
under Ryls 3.,; Nat s the fee' preseribed
Fthe RTI Rulps, 5012 7
(8) =g
th) ¥ ap
&) =25
dy &= 50
25,
22. What i
S !;s the total amoung of penalty that the
1 n 3
can i Or a State Information Cpmmission
Infi 111113?5;9 U0 any Central or State Public
: m.‘mﬂ,hm Officer for refusing to receive an
ﬂ[?lplfcatmn or not fornishing information
Within  the specified time without any
reasonable canse 7
(a) ¥ 5000
(B = 25000
() = 50,000
: Z 26.
(d)  There is no specific upper limit
23. The Chief Information Commissioner and the
Information Commissioners are appointed by
the President of | India ‘on the
recnmnjei:iﬁiaﬁ-’:_}ns”hf a Committee, Who is the |
Chairperson of that Commitiee 7
{a) The Prime Minister .
(b) The Chief Justice of India
(¢) The Leader of Opposition in the Lok
Sabha :
(@) The Speaker of the Lok Sabha
JHGD-B-KJG (5-C)

I ht for under the

; ation SOUE :
o the 1?_1’0:1::“!1_”& the life or liberty of a
2000 & il ordinarily be provided
the same hours of the receipt of the

In cid

request *

@ 2 hours

) A5 hours

@) 24 hours
(e} 12 hours

2005, an applicant making

I ae ghall be required to

wh
Under the I :
request for informmation

give
1. Hiscon
His per_;ﬂnﬂl details

tact details

2
3.

Selac
helow.

{a) 1only

(b} 2and3 only
(¢) 1andZonly
(d) 1,2and3*

Reasons for requesting the information

t the correct answer peing the code given

Every public authorily under the RTI Act,

2005, shall designate as many officers as

Central Public Information Officers or State

Public: Information Officers, as the case may

be, in all administrative units or offices under

it as may be necessary to provide information

to persons requesting for mfbrmataﬁn under

this Act. This process of designation of officers

has to be done within :

{a) Onemonth of the enactment of the BC&

(b) One hundred days of the enactment of
the Act

(¢} One year of the enactment of the Act

(@ Forty-five days of

he enactment of the
Acts e




ey foe i HE
[a) e 1

(b) e 132
(e) 1,23
@) FEm 233

e <5y e 3 P # & A

siiftrer 787 £ 7

(a) Uﬂﬁ;‘lﬁﬁﬁﬁ'@ﬂﬁﬁﬂgﬁﬁﬁ
zr wnfaa g Fwd

(b) w:mwmﬁﬁﬂﬁﬁﬂﬁ

(c) a‘gmwﬁmﬁmmﬁaﬁmﬁﬁrﬁﬂ,m
amﬁuﬁﬁafnﬁaﬁrﬁﬂﬂﬁmﬁmﬁ*
=™

(d) w#aﬁqﬁ%mwﬁﬁﬂéw

29. mmmm,mmmaﬂ
it forelt T ST ) T G ST F

=y # fgm ffﬁmmi&,?ﬁwﬁmﬁﬁm

ety g wifte 7 a2t ?

() =T A I GO G g & T

B e et = Ay
(b) G AT A A G HIE B &
i e fireet TE AW
(0) HEET HTET S GE HE A 5 &
# et fcret o8 4 :

(d) I A S G G AT F &9

i et forereRt A1d @4 .
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o 1 T 82
(a) H@Eﬁaﬁmm 1
21
‘éﬁ"%i 1i-
et 7 B 2 |
@ gmaﬁaﬁﬁaaﬁaﬁmvﬁwﬁi‘*
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32, ﬁ:ﬂi‘?rﬁaﬂﬁﬁm‘h-mwaﬁf%?

z?liu & o st e R m':l

o) e, ST R T
- ﬁ"""‘*—i‘f" i

: m; mmﬁ; ﬂ;]r?q aa: ;f“fﬁ
(d) ﬁﬁﬁi& ﬁ Wﬂ%:;m o
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lhit g
2005, ; b
: 5, incluges B H;I:iun' under the RTI Act, | 30
5 Cﬂl"t.iﬁ 10 take
ed 8-l
@
Certifieg 4 o documents

Certify s :PIEB O recardy
Select *Mbles of materials
low ol g
(&)
(h)
(c)

(d)

thE o
Orre

¥ n .

: SWwer using the code given

1 only

L angd 2 only
L2ang3 .
Zand 3 only

Which g
ne of the follow; :
under ¢ Ing is mof covered

he defini
the RT] Act. EG{Jt.’;‘??n of ‘Public authority’ under
(@ A bog i
Y establisheq
Stata L i v -any law made by
(h)
A i NOP-GﬂVermnent Organization
substantially financed hy the
Government
(e) A family trust owned, controlled and
financed by joint family property *
(d) An institution of zelf-government

constituted under the Constitution of
India

Whenever an Information Commissioner is
appointed as the Chief Information
Commissioner under the Right to Information
Act, 2005, his term of office shall not exceed :

Where

the CE'ﬂt-r

officer

one of the foll

request ?
The 113133":'“5

(a)
(bl

i

(c)

()

31.) Which one of

true 7
{a)

(b}

{c)

(d)

(a) Four years in " aggregate as the
Information Commissioner and the (a)
Chief Information Commissioner L

(b) Five years in aggregater as the|

' Information Commissioner and the|- (b)
Chief Information Commissioner
Information Commissioner and the
Chief Information Commissioner

d) Seven years in aggregate as the| .
Information Commissioner and the| (d)
Chief Information Commissioner ¢ '

(7-C)
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The

The periﬂd with
guch Ieje':ti‘on £

Particulafs of th

st for information is rejected,
or State Public I“fﬂl'maﬁun
ot required to communicate i,
gwing to the person making .

f redqu

is T

for such rejection

for seeking frivolog

pcl’lﬂlt':"

ﬂfﬂrmﬂ"iﬂn s
in which appeal againgt

ay be preferred

e appellate anthority

the fo]lowing statements is not

The Chief Secretary is the Residuary
Legatee at the State level.

The Cabinet Socretary 15 the Primus
Inter Pares among Secretaries.

has no

The Cabinet Secretary
ministerial responsibilities.

The Chief Secretary is the ex-officio
Chairman of the Civil Service Board.®

82, . Which one of the following sl;_atements"i's true ?

National AYUSH Mission was! launched
in 2010. N :
Sowa-Rigpa is  one of the health
traditions under AYUSH. '

AYUSH  functions : under the
administrative control of the Indian
Drug Control Cell. 4

States are authorized to mobilize their

' resources under the AYUSH Mission.
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frafts 3 fore st ot worar wFEs Feiia
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{a) 'Htﬁlf(ﬂraﬂ?ﬂﬂ

(b) GBI ST

(c) H"ﬂ-EI'a?TEh?T
D (d) HEEg AT
frfafag § @ FH-H F9T, WRA F THH
forar Aiff (NEP), 2020 % gay # ot 787 87
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88. Which one af th
e fi
ol miss10an *IIF!“"“tE[! the Satablinhy,.

Panchaynti Raj st

The
o

“"’“—inﬂ' Iz mod nlovel in the | 36,
Fucturs in Indin ?

ginl Uouneil
(a) Gp g National Judi 7 '-Ln'ller
A Panehps : ip of the:
Chmyay |‘h;l1l'|'nm"=h F
(b - Block Samiti (a) Prime sinister of Indin
4y Vice President of India
i .

te)  Mands] Commitien «

- the Lok Sahbk
(d)  Zila Parig) () Spenkerof iz
arshad
a iy Leader of the Opposition in the Rajya ‘

Sabha

34, Whi
hich one of the ﬁ’”muuu Commisaions laid

down the
qualificatio A e
ns and eligibility criteria Vhich one of the following statements is 5,

for the &ppointment g the post of Governor ¥ 37 7
w]TECL 1
ta)  Sarkaria Commission {a) Poshan Abhiyean is  a fagehip
; . rogramme of the Miniﬂtr}- of
(b) Punchhi Commiision ig]-icult.ure.
(e}  Verghese Commissinn (b) Mahile Shakti Kendra Scheme aims
; . empower women through community
(d)  Chandrachud Commission participation.

¢y Village Convergence and Facilitation
Sarvice. aims to create awarenssg

35. Which one of the following statements is not through community engagement.

t f the Nati o i i A
I.‘l.ll.lﬂ: of the I‘:«ahnnal Education Policy (NEP) of @ Uijwala 8 Al RhaT e ta et
India, 20207 i s
trafficking of women and children.

{a) INEP-recognizes 6 — 8 yearsof age as the
crucial age for mental development of a
i 38, The Lokayukta Institution in India is based
(b) NEP emphasizes empowering students o =
through flexibility in course choices. {a) Its long tradition of vigilance
commissions in the country
(¢)0 NEP aims -at 100 percent Gross | ur e b i
Enrolment Ratio in school education. (b) 'T]Ie"'[{ohan’f system of Japan
o Lo Ay L (@ The recommendations  of the First
In NEP, the teaching up to at least| = o
L _HEP'_ .e ot N p. o _.-AdmﬂtramveRefwmaCummssmn
grade 5 will be in mother tongue or|
regional language. (d) The ‘Gmhudsman system of Sweden

JHGD-B-KJG (8-¢)
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44.

nj;’m?mf (ddnfer) # wit =
zﬁﬁﬂiﬂﬂﬁm.ﬂ ;Tl'::'l?ﬁ, =N (i) H
qEa H HH

Eel SH

qad B A
o B A A A, S AT 9 Ry

{a)
(h)
(c)

()

s S Ta0 TR TEm,

o CyefafEa d A FEA R # #fe
ey

freft R

=l ferton

et fape
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()
(c)
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=feoT

"~

LCl
frEd

(b)
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(d)
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40.

1GD-

39, Match LiHL 1 Wi .
ANSWEr usj : A8t 17 in o barometer iy ..
nEIL-hE c" l-ri\-l.:n{! select the correct|41.  1f the mﬁtcll:gg;t. of the ]iquifi :x rt:“hq""l by
rp"’gf‘ﬂrr;l;ff_'_{ & below L}“‘ Liets walel, T']“' = Ol g,
* 'I'rhﬁ'?n’lﬂ'n_] Liat IT will be -
o 1""~'1dhun yn, - (Fettiire) (el Lower
Kaushg] ‘\*ik-”r'. g, } S
as -y anl'l 1 ublic- ) The 88
£ Private ] Higher
¥ogs partnershi (c) x
B. I\-.lt.ll:ln:l] Slei]) ﬁn“nrr = <+ ther higher oT lower, ;l._-penﬂmg on e
D@velnpnli!nt 2. Outt_‘{m1e-. (d) Bl .. ;
curpnl‘aﬁnn based skill temperature
- training
€. Udaan athamea
847 Spenia] When white light passes through a gagg
. industry 42, : hen which ray among the following
D. National Pylig, o imitiative s, aximum deviation 7
Skill DE\'elﬂpn;enr:_ 4. Skilling goes through
ecosystam av
in India {a) Red ray -
Code : (b) Blueray« -
A B C D fe) (Green ray ._!_;l‘ ! 4
M 1 3 4 {d) Yellowray ]I‘_\
thy 2 3 1 /i 4
4 : :
o . , 7 43. An electron is moving downwards in a uniform
(d} 4 1 ; i which is directed towards the
he electron Wi e deflec
North. Then, t
Wch one Df the fﬂl]owing statements 'i.S ot towEI‘dS .
correct ? (a) North =
(a) In India, Right to Education seeks to (b} South ;
ensure that every child with special (c) East |
ne is rovided ~ with uali i
-EdS. pro i quality @ West 7
education. ;
(b)  All children are provided free textbooks
up to Class V under the Right tolgy  yoghurt is produced by milk whe
Education Act. microorganism cunq_gr;s the sugar(s) o
= ; me milk into an acid. Thisacid is :
() Padhe Bharat Badhe Bharat Sche o S
focuses on foundational learning.. (a) Aceticacid s
" 4 hivan N R
(dy Under Rashtriya Avishkar Abhiyan, (b) Lactic acid
= 5 are J
children of age group 6 18 year . (¢) Fatty acid
) . in science ana; -
motivated to engage ; (d) Nitric acid
mathematics. s '
. (M1=CH
B-KJG 2
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- it () HE F= AR (7€ Fre ﬁmm
i (@) =8 3= AEEd (18 e TE =)
{c) T&Pm
S 59, wfauw (seat wHEA) wfufran, 1987 T
% T YT R § S AT 25°C A ﬂﬁfﬁ?ﬂﬁﬁ%?
T ad _E?hr'ﬁ % 7 (&) ﬁa‘r{q
{a) M (hy TNET
() W (0 s Yed
(c) ~EifeaH (d) HErEE
(d) i A
54, 26 Safl, 1950 W MEG % Fiau ¥ &
49, Frefefias § & He-a1 4T 727 © 7 s Eme of 2
(a) TG SATFAES (a) 8
(b) g EEEAHIES b) &S i
(c) HIg FEME (o) e
@ R (@ WmE
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In human intestine, the major amount ol 50.

455.
glucose is absorbed into the hlood by :
(a) Active transport
{b) Transport by diffusion
(c)  Transport by osmosis »
(d): Passive transport

i b
46 he cells of blood that fight rgainst majority of 5l.

the microbes during infection are known as :
Red Blood Cells

White Blood Cells -

Platelets

Hepatocytes

()
(b}
{c)
{d}

Which one of the following fuels gives rise to
only carben dioxide and water on burning in
excess of air 7

(a)
(b}
(c)
(d}

47.

I'[ydmgen'r
Eth p
ano}fql
Petrol—
Coal.—7

The only metal which is liguid at about 25°C

48.
temperature is
(a) Mercury«
(b) ~Bromines
(¢) Sodium <
fd) Cerium./

9. Which one of the following is not a base ?

@_:

Which ong of the following g,
Nag ,
of garbon T L LI g,

{a) Graphite
(m piamond
) Carhide

(y [Fullerene

the Indian federal system, ih, .
o wested with which “;.u; sl
titutions 7 of

powers ar L}
1 1 l'1‘-'i|--
following 115 :

Parliament of India »

{a)

(b) Council of Ministers
(&) States of the Union
(d) President of India

Which one of the following High Courts has
jur‘i.sﬂ.i:ﬂiﬂﬂ aver the largest number of

States 7
(ay The Gauhati High Court
(b Calcutta High Court
(¢) High Court of Kerala
(d). High Court of Bombay

53. The Constitution (56t Amendment] Act, 1887

confers Statehood on <

(a) Mizoram

(h) Goa =@

{e) Arunaz;hal Pradesh
(d)' Meghalaya

54.  How many Schedules did the Cq:l_lspitutinn of
India comprise on 26 J anuary, 19507

(a) Metal oxide

(b) Metal hydroxide
(c) Metal carbonate
(d) Vinegar ¢

GD-B-KJG

(g) Six

(b Eight
(c) Ten o
(d) Twelve

(13-C)
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ERs
(a] qq% %HWHWQIT’ ;[Fﬁ:?ﬂ"
el 7o HEEE ({!ﬁiﬂj"ﬂm}
(b) ey {n)
( = (b} -.rw’{ﬂ“‘_ﬁ BRI
. : (e mﬁﬁw%ﬂtﬁﬁm =
MG T F 7 <fem
. o g P =
~ B8
= 1R _
H@ﬁlig—‘wﬁaﬁﬁﬁﬂﬁt | :
EFW%#éﬁqmﬁm'aﬁmﬁ@ﬁqﬁg_ mﬁmﬁaﬁﬂ%mﬁﬁﬁﬂﬁ{ﬁﬂ'ﬁq
q:qa? 5 mﬁ.w@wﬁﬂ?
: L T 11 !
(SR eagia T (e 1 ﬁwﬁmqﬁu sreAiE] 1 ST
R e .
z D 2, ﬁéﬂé‘fﬁammﬁﬁﬁaﬂm.
A, FgEl 1. =T TR ma e
: ; - 2.~ 3. muﬁ%ﬁﬁﬁmwm
C. Wﬁ 3. BrgEE el Exe
Py A ﬁﬁfﬂm.ﬁﬁﬂﬂgﬁmﬂﬂ‘qﬁmgﬁq:
& (a) S 1 A3 .
ﬂ g ) " (b) ehdet 2
fa) 3 1 9
(e) Fae 2 3R 3
(@ 2 1 4 5 @ 1,233
(d) 2 4 1 3

60. maﬁﬁﬂﬁﬁaﬂmﬁﬁﬁﬁ%ﬁq.
S s 3 e T A R ?

Dol (a) o83, IO
v (b) RIS TR

(c) TfeEand 7 S s

o @ . o @
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||' i :-J“! firae oy
MMmarjj iy, ¢
followiy Yo “‘JL;L 1t oy of the following WaE Bot a cop,,
B “*“‘L il o Any s will':h o a57 7
(a) Prg, b wis ity Mment gep wos | 58 Revo I. of 1
.I ® & Porty, th ‘ong of the | rexatior of Awadh
I () qua[jt}‘ ial Al ar @
! ®  Lihey, o Bt of BUF
i, i : Sion to the:successor of th
Rl!hm-“n 1 'Dl.!ﬂi“l of pom
Lo & hw!.l
Jast Fes
. pughals.  of  their
56. Matg L e
ﬂlmw:r“m I () Di‘-_P:;;;w
Usin i priv
Lige 1 g lhl:l L‘n] 80d seloct 1o
(Worme, 5 Wy below the L':."Jn“.“ _[bliﬂ"f'j-"'ﬁ statements  isfare
an g 0 r ists i | ¢ the ! O k
i dr_tt{-'f_ a-rJ,fEf Ly, List IT 58 Which ¢ G the Mon-Cooperation
edie 4 i 5 ;
l'iisg‘_-:tu quflt‘: h:,r-j}_ Dyvrastic corrett 3
(2 f association) anemcnt
A R“dl'a..n_-.n.& orking olnss wont ‘on strike in
The WY it
B. 1 and cities
Md‘adfﬂq 1 Chola 'ﬂ'lﬂ-n:" t,UWT-l-F' : ¥ :
. . ‘hos violated the forest laws. i
G hun“aval 2 Kakatiya 9. Some hill trv ]
- 5 weadh refused to pay taxes: =|
D. o Magdey; 3. Hoysala g Farmers in A
- ging the code given
4. Chalukya Select the correct answer v 5 &
Code} below -
A B (a) 1and3onl¥
G ..
(a) 3 1 (by 2only
4
(b} ‘3 4 g (¢) 2and3only
1 2
dad
(c) 2 1 @y 1,2an
4 3
(d} 2 i =
4 1 3 §0. Who among the following Prime Winisters of
India was never the Ghleif Minister of any
il State ?
57. Theti . L
itle of Vatapikonda was assumed hy : Sl
I 1 (a) LK Gujral
(a) Pulakesin IT
Morarji Desai
(b) Mahendravarman (b) rat)
(¢) Narasimhavarman (¢) ~Charan Singh «
(d) Manayarma (d) P.V.Narasimha Rao
IGD-B-KJG (15-C)



o OO0 N 8 FHa wfiw sfafdm sswo| ee.
W (2t gt hest witfe) 77 2 ¢
1_3] Hsfom. (camn
(b) mjl;*_fﬂ- (SUG)
(€) i dsh. PR
)z, sw)
62. q frsmym@ weweii 11111 st 1010 F
V%S W1 qod ZuHerd 5 1 B 7 i
(a) 300
(b) 301
(e} 310
(d) 309
63. ffinfian # & vy, ga sive wd wfa ()
St # 5 95 =rer i WET 1 48 Hdl 8 :
T arer ger Tifd (7 ) B | gg,  frmfafa # & - feEed AT
{m?mfﬁmm@?n%? ) S e R (STEeE SI)
(b) : ;
A (c) HETED (FEEH)
(oS S (B 8 @ e e (s gEe)
@) fedtas wifa (350 4ai)
61 sy SefER (i i) #, @t g 69 uF YZTETEe (Petabyte) qed 8 ?
s e =R P 8, A 39 Tk foh e g (a) 1024 Bytes
=fey 2 (b) 1024 KB
(a) 2 (¢) 1024 GB
UK (d) 1024TB #
© 5
(W6 70. FeffEd § ¥ W @FETE
5. T TR RE (MS-Atcess) F AT fres oy (AR HiER) fireh seoger T
o e & 2 %, AT () Sfereg L <Tl ®
(a) HwS HIE (SEEE) dR FwH * U forell arafer a1 gra J@ fehan S ?
(h) SefEe (i) & Hurgd & fore (a) THHEIL
(©) W.E.U%. (PDF) %50 H Ya@ (SiHe) (b) IS &
eI o (c) @
(@) ToE (i) TN HE % @ <
GD-B-KJG (16-C)




1. Which of the L ; : :
[ Storﬂge ForL FU];‘I:’WIHE 18 mot o Vector I-.nnge 66, "I‘he intersection of a S -
wmat? spreadsheet of MS_ i 6
S xeel g vy Sl
LA JGM (&) Coll !TITE:“&“ o <
4 ~ T
B SUG (by Worksheet e
(.CJ £ (¢) Workbook
SO (d) Notesheet
2. The equivale =
iy b,?:m w. ent decimal value of the product of | g7, Which one of the fu“uwing G
ary numbers 11111 and 1010 is : software 7 © S g :
(&) 300 By
(h) 30 (a) Virus
() 301
(&) b) Worm
C 310
) ; (¢} Trojan Horse
} 309
id) Cipher
83. ‘-ﬂ]ich one of
th A
e e following is a small, fast and 8.  Which one of the following is not 5 .
Slve memory that stores the copies of the e S¥stem
data that needs to be accessed frequently from
the main memory ? (a) ~Database programs
(a) Magnetic tape (b) Operating system .
(b)Y CDROM {¢) Compilers 2
(el Cache memory (d} Device drivers-
(d) Secondary memory
§9. A Petabyte is equivalent to:
64, In mesh technology, if we have 4 computers, (a) 1024 Bytes
how many links must be there ? () 1024 KB
A (¢ 1024 GB
(D) e (@ 1024'TB
Ge)aie
d) 6 70. Which one of the following malicious softwar
blocks access to a computer system unti
. : : g 19
5. MS-Access is used to : sum of moneyis paid
(a) Create a database (a) Ransomware
(b) Edit graphics : (b) Trojan Horse
(¢  Publish documents in PDF file (e)  Virus
(d) Create a document (d) Worm
17-C
IGD-B-KJG ( )
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ST,
TR e
(a) 50
(b) 102
(€ 150

FPerfvfg

71,

TER w2

72,

IELE S R ¥ S —— L
(a) =it TTHT

(b) X, areTgwmiEE

(©) uq. whew

(@) it weRm

73.
AHF E ?
(a) feomn
(b) Ta=i"
(c) HERE
(d)

T4.

flaedl 2 2
(a) HEEIEH
(b) HEhETH!
(c) @h?r
@ Ty

5. &926 (COP26) ey T aﬁm F A |
fapu Ty Tl SoETy e R A aw
urd % Faet 3= (Fe ) FrEA S0E 9N |

%7 9 % g mmaﬁﬁmw 9
(a) 2070 ¢ i

(b) 2060

(c) 2050

(d) 2040

ﬁ?@ (SOFO) fuité 3 angn deamn
30 951 # favm % ot @ A

M i ¥, we @ #, WA (GEBD T
Hiawr o foen ffa (PEFR) % HE9 A

freafafigs # @ =1 9qd @« 3fem 39 199 &

e it Frfofiaa 3 & feg et H I

-

‘-n-‘*' _-______,_'khf—

7.

8,

¥ 5 -

p S

o 1 v (e PR 1 8 g
s e & foO SIS S
St gEETIC)
'{a:lﬁ o 2 T ST WER o
sl o e H# FEETE IR
ofiads % for =Tl A A o
ﬁﬁmﬁ,ﬂﬁdﬁq?ﬁmﬂfﬁﬁ‘m
ﬂa’ﬁﬁﬂfﬁﬁ‘i:ﬁﬁ%lﬁﬁiﬁmi
e W wifee H 8

e i, 2020 F U T TS
g?l:smﬁmﬁﬁﬁmimum
o < ety frad gEidT 8 7

"5
?n?ﬁq; aeree Ew #H g
&1 o afr a1, 2 33 _
i aerEE a9 g
it a8 3f e 1 3 2
w&1 6 10

(a)
(bl
(el

(d)

(a)
(b}

(c)
(d)

g FRaE S@ = (FATE) 5 =

Frefafiaa HuHT T e AT

1. a4 1989 ®, & afeA # welUa fE
o |

9. yRw # zas SAfRm eI ¥ o

SurEl S e FE S IR TR 5

or | 7

3. WHUE.UE, (FATF) & egd 3@
g weEha Eau ° Fed  fouow
wfyg w3 T, e
il

3T HIA H E DHHA T 2/ 2

(@) 1,23m 3 -
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71. &ccnrding to
the Worlgy,
nppmxim.,m]}, e
Area of ph,
30 Years
(a) 6%
b) 10
el 154
d) gj7g

72. Who mong )
the Advisory,

by SEBI op Iny,
1
Fund (IPER) ?"f E5tor Pryg

(a) G.P, Gu

(b) A HaIaanbramanian
(€) - N.Harih aran
) G Mahalingam

73.  Which one of

Fourth Khelo

World 1

B ", . J‘_"-" ij"‘"‘ =

3 - £

Thl: LT
2022 editing of the State of

Farea

wnn_ sig (SOF0) report,
Much of the total forest

85 hoap lost in the last

1e fo it

Cunuu‘_"mg 15 the Chairperson of
OMmittea Constituted recently

8ction and Education

Pta

the f‘ullnkving is the mascot of the
India Youth Games 2

78. : \ it
mwmaumml Women's Da).. 21:’2211} t'n‘_.m
nhﬂg_ ~of

Which one of the f'ulllm.ﬁns

the United Nations -' Wkd}w
(a) Gender equality today for o
A "’""”Ealr-_ahlu
(b) Time is Now : Rural and U:!]e:]“
Transforming Women's 1y, Metiviy,
{¢) Think Equal, Build Smart, ol
| Change ova g
{d) Women 1n L.'EadE%h:!’ : Anhi'wing ‘
equal future in a COVID.1q Vi o
-

77, The Nﬂtiﬂn.ul EEucibon ey, :_Zl]'Eﬂ} Propages
a new curriculum structure 5 4.3 4 o e
first 5 year period refers to : The

(a) Classes1to3d

() Two years of early childhgog care ang
education and classes 1, 2 and 3 ,
Three years of early childhoog Care angq

(c)
education and classes 1 and 2

(d) Classes 6 to 10

{a) Vijaya

(b) Vijay 8. Consider the following statements ghqy the

{¢) Dhakag Financial Action Task Force (FATF) -

(d) Java 1. It was established in the year 19mp in
Tokyo.

74. Nikhat Zareen excels in which one of the 2. Initially its mandate was to examipe
fOHOW]'_ng sports ? E]’Jd develop measures to combat money
(a) Weightlifting laundering.

(b)  Boxing 3. The objectives of the FATF are tg set
) standards and = promote  effective
(e HheKho - implementation of legal, regulatory and
(d) Wrestling operational measures for combating
. f money laundering, terrorist financing

. The ‘Glasgow Climate Pact’ made during the| and other related threats to the integrity
COP26 Climate Summit emphasized .on of the international financial system.
India’s announcement of the target of Which of the statements given above isfare

becoming ‘Net Zero® carbon emitter by : i correct ?

(a) 2070 (a) 1,2and3
(b) 2080 (b} 2and 3 only
(e) 2050 (¢} 1landZ2only
(d) 2040 (d) 3only

D-B-KJG
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79,

50.

{a}
(b TR T
(e)

(d)

)-B-KJG

77 |
fofeifiga § @ 39 =fh ) TE=THY

i
Ak -302253! G e % frafifea dawmt (81 3E

T f e anien el
(
ﬁﬁ&“‘-’ﬂﬁ Rfgweq) # st % e
i::_ ‘“‘!”FTHT I WiearfRe w0 #d of favm 7w —
S ol et s fpu v

‘&) @R Sy 3w Hae
(h
(e)  q&, &y i g Iy 59wy
(d) a1 Hrisn ot @« Hare

YT % U g Siae & 9 § e

FeE g fa=r Fik . B

357 1956 7 %60 ‘ga% g5 gAT 9 F
TF 79 @ orq greeeid @) #1196 4,
ol Sl UG R
FEAAHF (FiH2) Vo HIeT e 7 a1
% /gt & Jimer B | eREaR SiEdr &

g B el & g @t # |

7 W—ﬁ?wﬁmﬁwmﬁﬁﬂ?
. o oy

Afcter =l

.‘u-' * F‘: g‘v

v R sii semsfiem darem 82,

FAATT

ﬁﬁmmﬁﬁfﬂﬂﬁ&eﬂh
s1fereRar =1 941 e B ?

(a) T it il
() et e it
(¢) Threl e ST
(qy et FeisiE 9

a3 . rqunzﬁrmﬂﬁ’

(a) srafead e AT
(b) =AAfEHT T ATl
(¢) el fee A

() erEfea A qe

s smam WEM (EOQ) 98 HEA
et 1 3 for = A 2 2

(a) ‘gﬁimm

(b) F@ AT AP

(c) F‘W(ﬁgﬁ)m

() wHfEE (e Fiw T

wffe e § Fewei % & B
Tt e w2 2

(a)
(b)

Tl (SEBD)

AT . 3718, (RBD)

T S U.SE. (TRDAT)
& (TRAI)
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79. In March 2022  which of the fﬂuuv«lng 81.

Ministries of the Government of [ndia

laun ;

EL:I ched two special initiatiuer. __ gambbaY’

3—“’- ‘Bvavlamban to promote

entr

aspr:prenpurthp amongst youth, ESPEHBH" 2
ational d[ﬂ’i—l’ll;_.l}. all ACross thg LU"I.JntI'F

(&) ini - i
Ministry of Food Processing Industries

(b} it 8%
?‘ilnlbw-'" of Skill Development and
_utrrAprr.»neurship E

Le) Ministry :

inistry of Micro, Small and Medium

Enterprises

fd B - e

¥ Ministry of Youth Affairs and Sports
£3.
n‘ & " ¥ -
8 Consider the following statements about &

famous music composer of India :

He composed the background music for one of
the scenes in the 1956 film ‘Jhanak Jhanak
flutist
Brij

Payal Baaje'. Later he collaborated with
Hariprasad Chaurasia and guitarist
Bhushan Kabra to produce the acclaim
concept album ‘Call of the Valley'. Along with
Hariprasad Chaurasia, he emr-,po;-ed muysic for
many famous Hindi films like Silsila, Chandni
and Darr. He was conferred with Padma Shri

and Padma Vibhushanawards.

Identify the person from the following :

current liabilities is reforr,g
i g .

¢d |84, Which Regulatory

G eXCess of fotal Curreng
ﬂh“.'(

ey

(a) ~ Gross Working Capigy Yy

(b Permanent Working Capita
(e) Quiclk Current Assets

(dy Net Working Capital |

SI‘E} -“rit.h ﬂ.‘{‘&fl"t‘n(fﬂ o hiu“lﬁl B
oy

for : * Blang,

(a) Systematic Investment Plag

()

Systematic Interest Plan
(c) Be seurities Tnvestment Plan »
(d) ©S¥e stematic Income Plan

Economic Order Quantity (EOQ) iz
= thag

qu;ml_lw which minimizes :

Total interest cost

{al

(bl Total ordering cost
c) ‘Total inventory cost
(dy  Safety gtock level

body protects the interest of

investors in the Securities Market 1

(a) SEBI

(h) REL

(¢) IRDAL~
(d) TRAI

g5, Currentratiois the ratio of :

Current assets Lo Sales

(a) O.P.Nayyar 1
(a)
() ShisRuERESEEEE (b) ~Current assets to Debtors
(). SalflChowERES () Current assets to Current liabilitics
(d) Ilaiyaraja (d) Current assets to Inventories
(21-C)
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ECR i & @ st e o A | 90 wfeehed

(a) FrerumEi i Tufs sifieran ST
(b) et wiEuReE v

(c) Sifigw =gas w0

(d) HH = T A S

87, dugi w4 g (BSE N ) A
3 : 91, %
i Ueh & 7
{a) 30
(by 3o
fc) 40

(d) - 50

88, ﬁmﬁ%ﬂﬁﬁﬁq—m%ﬁ'ﬁrﬁ%mﬁﬁ%
ﬁﬂﬂﬁw%ﬁaﬁﬁuﬁr%?

(a) %ﬁﬁﬂmmﬁﬁﬁﬂﬁﬂﬁﬁl%h

(b) ﬁ,ﬁﬂﬁmwﬁ-ﬁam‘ﬂ%m%ﬁ
a:rgaﬂaawﬁ%n

(c) 1+ Tosi™ m%mm-m@%% 1
(d) %ﬁﬁﬂm'ﬁﬁﬁﬂﬁaﬁﬁﬁ% |

89. q,aﬁiﬂ,{aamﬁﬁﬁwuﬁﬂﬁmﬁmﬁﬁ
oy o fopary I € 2
-[a'} qﬁcﬂﬁuﬂ { _
) A () T
@ R (e )
(d) W SEE

JHGD-BKJG (22-C)
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:86.  Which bne
objective

(a)

am 0L 1] ",
e fallia s . 1
of ﬁ"'ﬂ-ﬂn{,ﬂ o “uw:ng is the primary |90

anaﬂﬂnlent v

Which one of the following is {h. e

i,
rate of return that a firm must cam iy . 1:1“‘
T ar

(o satisfy the expectations of its investor,

9

@ 'areholders’ wenlth :
b S B e
(d) M'inl'mizat Iln']' of gk ‘ b TOWI
00 of cogt oy the firm Sk g
(d) Cost of capital of the firm
87. How

nla‘”‘}_ Congtit
st-.lt'l_[g - i\ L
Sensey Index 2 nts are there in BSE

An organization forecasts the Tequiremeng %

SRS 0 91.
IT enabled employees 10 years from noy. s

L 35 an example of : :

- {a) Manpower planning

= (b) Human resource audit

{c)  Job forecasting .

{d} Personnel management

BB. Which one of the foIInwing about financing
through debentures is correct ?
(a) The debentures carry a fixed rate of|92. The loﬂg:tam direction and strategic intent of
interest, an organization is known as :
(b)  The rate of interest on debentures varies (a) Target
with the profit of the company, (b) Vision 4
() The debenture holders have the voting (c) Mission

rights.
: (d) Plan
(d) The debentures earry a fixed rate of |

dividend.

93. An urganizatiuﬁ has wuploaded new job

openings on its website. This is an example of
ABC Anajysis_zs usedin: - ) ifermal rosmsitment

Cash Management. , A E: = ik
) Cosiglakenie (b) - External recraitment s
(b)  Inventory Management o =
(c) Corporate Governance * 9 S a_campm.gn
' (d) Publicrelations

{d) Receivables Management

)-B-KJG ' (123 =€)



X' o d 4

894,
ﬁm?; m;;:ﬁfﬁj (sl ”f;ﬁs} A & wefva
Wi % 1w, Eme ay it
TR B w1 s ﬂgf‘fatﬁaﬁmaﬁ

(a) weff
(© giem
(dy =99

95. WaTHR i ar s fafy # e eliEEl

F st w1 e fuife 7 1 sifiean
THasa] 4 Je R ?

(a) T TR
(b) SHAERYLH FU HIHTEHIT
feufams qehR
e TIETehI

(c)
{d)

wﬁﬂﬂf@#gﬁﬁﬁﬂm?ﬁﬁm
= g1 e # Forerd A He bt fewd 94 €9 2
sififa=mg (afifeesm)

(b) SAEIS

(c) WA (F$7)

(@) | gt T (R |

(a)

97.. FH, HI¥E aﬂt.ﬁmﬁTEEﬁﬁ%ﬁﬁiﬁ[W
Fed & ?

W S T e
- , .~ .
5 a0

99.

(a) GEHAI

(b) S
(e) W

(d) -
JHGD-B-KJG

4 -
b -

i Ao (S TearE)
e Ty (it feafresr)
78 7 (T )

frffigs # @ PEE FET ofy,
(aATa-RR=i= 3fm) % 2 & 2

1. wfienr fAEE

5, wgSHEETHEE SIS (i,
fegetr )

g g (snmEiEElT)

4 wfEm (FARET)

5 @ swEEa (ST TETH)

A3 Feu U e I SEM S T
(a) FAA 1M 5

by a3 T 4

() 3,435

(@ 2,834

100, = R Hed & U W TS w
G =3 AR A A e e §
forg SaEEF 1 U HE 6 fow i
St T 8 2
(o) HUAT SAERA
(e} HHHHE HETHHhA]

(d) Hﬂﬁ'ﬂ._{ﬁw.ﬁﬁm) A
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praectad joy g 4 I:;h'iﬂ“ e |
8 Recruitinen . \
B Fitmem

i) Matching

) Selaction

The interview situstion,

where a candidate B8

€iven the maximum freedom in determiting
wmﬁmﬂmhm“=

(a)
b)
{e)
)

Structured interview

Behavioural description interview «
Situational interview

Non-directive interview

[ il Thas cutlining of T

ﬂﬁil}lm .

= ﬂwnwnm":‘?&m

sauhienily known an

:*‘
(1.}
e

{d)

Jal apeeifiontion s
Jaky desisdgp=

Julv duwcriptinn
S oo tedue

eas-the job training 7

L Rote play

2 Muitimedia simulation
3. Wﬁ-mi'

4 Internabip

5.

e,

s
Wl &

99, Which amang the following ars parss o
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A 22 H 3 o & e 2

(@) soad Wﬁﬁaﬁmwmﬁ;
Sas Ty -L%n;? T
©  sp8t ® -1
(d) 3594 te) O
(d) 34 *

st - 3 76 | 105 5 km Wt A3 H, THW 7w ;
2 ; 2 15 3 FI6l 105, s =Am 5 km » UTOL 3 3,
102, 26 gagH, 12739 5 Colwni e iy

: a1 aih B 2 E e | AR y
1léﬁwﬁmﬁﬂﬁ@ﬁm,ﬁmﬁ T W15 30 HHUS %%U.Eknzﬂ_ﬁzﬁ:%
et 3 e = oh 7 78 Rm TR B 3 e & | 98 AT W OFA A gy

e 2 3 A T e s, Y
SR TEE A R | (a) 25w
fa) a8 » (b) 24&1—"3
ayeg () 24TFT 48 HFE
(& 11 (d) 24 fiFE 30 EF9E
fias
dy 7 i@uﬁ asb=sh-2 3 ae®b=ab+2 i
(6 +7) @ 3 WA F41 BT ?
108, TS (frfeaT) e w0 R 2 (@) 122
12 | 6 (b) 126
5 | 82 © 130
10 | 5 : (d) 134
2 B | 107. 10,000 § & HEI (n) P TR I 2 |
T 32, 36 3N 48 ¥ fausA R | 3 G
3 feu T % 1 TN I I - e
(a) 3 (a) 288
) 6 : (b) 9712
(0, 12 (c) 9672
(d) 18 510
JHGD-B-KIG (26-C)




101. A sum of mon
ey doublag iteell ni some rote of | 104, Consider the f‘muwm“
Bnring -

B NN

compound i i
mtoerest iy ten years, In how many

yenrs will it beco
me o L fime itse! i
thb Ba s Eate ight times of itself with

{a)

{b)

el and
coffee lf. ©. 6 persons take milk as well a8

- If people taking tea do not take milk,

how many people take only tea ? It is given
that everyone takes at least one drink: milk,

coffee or tea.
(@) 5

(b) &

(e) 11

@ 7

108, What is the missing number 7

Gelect the correct answer using the code given

below :

(a) 3
by &

(e 12
(d 18

JHGD-B-KJG

20 years
25 years
30 years

35 years

1+1—1+'L+‘|__l
"‘14.1
4 _l'.-L
Y

Which one of the Mh"“"'-ug ; 'L‘“‘-u 1,(}__;!;. .
given Beries s N ey -
my 1 b
by =1

(e): 0

(d) 94

108, A person TUNS A B km race by g
running at a speed of 16 km per Y,
minute, followed by walking at a ...
& km per hour for 30 seconds, Hyw :E;F:'ad of
will he take to complete the race?

(a)
{b}
(e
(d)

i
fdar T

£,
gl

Iy t:L'[r, ]

o5 minutes
24 minutes
24 minutes 48 seconds

94 minutes 30 seconds

106. Ifa*b:'ah—-znnd a®hb=ab+2 thenthe

valueof (B2 TI©3is:

{a)
(b
(c)
(d)

122
126
130
134

107. A number (1) is subtracted from 10,000. The

resulting number is divisible by 32, 36 and 48,
What is the maximum value of that pumiber

n)?
(@)
(b)
@
(d)

2&'3 :
9712
9672
576




108, ﬁq% FgH T R i
4, 8, 14, 24, 40, 76, 142
R 3% sipw A fremw gend el 3 F
SRELIETCE e . P @
Teid & 7

(&) 14

(b)) 24

(e} 40

(dy 76

{"r@qmauﬁmﬁzmnkmfﬁrmm% |
" e A T S (o 2) HeT
wm‘amﬁiﬁﬁ,mmﬁﬁﬂ%mﬂw
S o fauffe feomm Tl T HHTH FA]
@Fﬁ%ﬁnﬁﬁﬁiﬁanmmm% | &ty
98 80 m fy =2 4 A A FR TR,

& & w7 T we A e e f
Wi ?
(a)
(b)
(e)
(d)

111, frfafiaa 8 & s
TE R ?

(a) StUE

h"—l‘ﬂﬁ &:':-’I'n,

(b) *hu

(¢}, M
(@) A (FwE)

112. faom FARIEER % o, o

(eeTt)’ 1 o S g )
(a) 9% 127

(b) 13% 16°T9 =

(0 17# 1994

(d) 22% 3594

frofeflge o 8 A/ F99, WA ¥ g
aranl & =i o e g S 2 Se i

et 7T ° UmEE e 6 |

Ci il

3. IHior STHIRR HESTAE T8 2 |
i fom e e = S ) s SR
(a) %HAd 1 3R 2

T b 1,233
(c) . harel 2 3 3

113.

1a

2.

JHGD-BKIG

(d) *Had 3
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108. Consider the tollowg
PR ayaly rbt: 5 Spquence
4814, 244p o

- 0, 76 149
18 numbers iy the 4}
?Dlnn pattern, whigy s
. \vﬁjnu 3 O

sequence follow
of the above numbers

(a) 14
(b)Y ‘94
le) 40
{d) T &

109. A person travels 2,000 km by car. He travels
fit most (i +2) hours on the i day of his
journey. On each day, the person has to end
the journey at assigned resting places which
are available at every 50 km on the way. What
is the minimum number of days he needs to
complete his journey if he drives at the speed
of 80 km per hour ?

(a) 5 days
(b) 6 days
(c) ‘Tdays
(d) 8days

11

1. which one of the llowing is s
! .

marketing mix ? a T

(m) Product”

(b) Purchase @

() l}h-u‘r.'_q\:'

{d) Prumntiﬁl‘l

[n the context of marketing ‘lﬁmng‘mph-L
£s,

112,
into which age Eroups Aarc ul'wep!., )
=D pRry

categorized ?

(a) 9to 12 years

(b): 13 to 16 years:
(c) 17 to 10 years
(d) 221to 35 years

113. Which of the following gtatements islare
a myth about Rural Markets in

considered
India ?
All villages are equally populated.

Only ]qw price products are sold in rurat
India.

Rural eonsumers are a-ﬁnmogenenus lot.
Select the correct answer using the code given
below :

(a) landZonly

110. The unit value of the number 0% 3gt:
@ 1 |
(b) 3
ey 7
d 9°

HGD-B-KJG

() 1,2and3 =
(c); 2and3only
(d) 3only




114, i
T L ow ol 1% ww g AR AR 117, R e

%ﬁl%:ﬁaﬁt{mﬁawwmwmmr

qei1 gt
() (g 27e1%7)
A w1 ot fig g (S A
SRE)
B. werww 2 dyaw @ W (MEH
3 )
C. fafmm 8 @i & Teet % 93 (8%
g #ad)
D. furea 4. aiqed Wi i egd (R
377 FshiSET §iedl)
he :
A B C D
a) 2 4 1 3
(b) 2 1 4 3
)8 1 4 2
(@i B, o ik i 2

115. mﬁmmﬁﬁ%ﬁﬁ,,yﬁammm
S BT 2 ?

(@) S Al HE i ol 8
(b < 7 IE % @l H o @
© S s 7 39 IeAE HI SIHM F A
(d) e Searg 1 fersiest WHT STl &

116, e % o #, ‘Fig oRedd w0 % o gfa|

AT frgFT A2 7
(a) HEATHD (§Fes) fom

(b) TEHH (FEEfE) T
() e (frmget) femme

A i a;ﬁmiﬂm:‘ﬁ ff frm
(a) 3THA Qw} 1

by =g ()

(c) Uit {mj

(d) BH (fEFemm)

&'ﬂ;q.l i

18, 98 TR W A, Fred gm s
AAR T Wew 91 % Trv i s ’r:l.\»‘
ﬁu,m_ﬂmvv ﬁlﬁ(zz.ma'n}qp?%
(3= Hrire), sf 1 3w et % f e
?? 3
(a)
(b}
(e)

(d)

wfaerma fafmion
TEE HEErE
T =

119, ffifie wwmEm °, 4= F1 @w" @ 3
fasperan & " A & a1 e
THTE i 1 HEd 8 ?

(a) TIH ()

() faeEgEs (T9)

() 'ﬂ'ﬂl{ﬁ'&) /

(@ FeigE ()

(e) Tﬁ"“ (wrs)

) e (ATET) fomE

JHGD-B-KJG

@ 3mE (sfE)

(30-C)
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114. Matel, 1,
I!l'l,.'ﬂ\'er uaml wi ]"151 3 S v ftﬂlll'!r' Aon- mLLﬁLFn'r in which
E & 5 = 1
Ll'gr I hE cod mv::ld_t releet the corroot | 117 I fﬂ: 4 nduﬂt fife eyc e?
I below the 1.3 atn
rsrﬂw ow the Lists b t.—.:.duﬂtl““
List 11 (al
A, K‘Er&]a (TGt am o Grﬂ.wth
Tagline) iy
B. Mﬂfﬂw L. Small But {cl MRt
- yva T’I‘admh 9 Et’*nuliﬁﬂ ) Decling #
R, Seom
; g ters into an
D, 3. Halfway to which 8 company en
aﬂ-‘ﬂhﬂlayn Heaven 118 Atnr‘thﬂd by ¥ other party to gain entry
4. The Heart of 1 pment with an ok or sl
Incredible Indi il market in liet! 0 !
Code . neredible India into & foreign e of trade mark, patent,
for manufacturt L
% B C trade gpcrel atc., ¥ wne
o 4 1' ; {n) Contrach manufacturing
= ting
(b} ment contrac
; 2 1 4 3 (p) Manage o
) i =5
SANd 1 4 2 (¢) Joint OWIE
. : >
dy 3 4 1 o (dl Licensing
payable to the owner or

119. What is the charge P

HGD-B-KJG

115. In consumer decision-making, an influencer is ney in cAase of failure to load or
a transport 2E€
person who : fischarge the sods within the specified time,
(a) Bowsthe seeds in customers’ mind kmown as 7
(b) Takes the decision to buy the product (a) Toll
b) Demurrage <
{e) Actually consumes the product 2!
(c), Cess
(d) Is considered as an expert on the '
S i & @  Penslty
, T i _ _|120. In mtemahanal fraﬁ.éj e
16. In the field of advertising, ‘encouraging| government impos ties le
switching to-a brand’, is a part of : or exported. guods is known as
(a) Informative a‘dverhﬂmg 5 (a). Tariffs »
() Persuasive advertising (g ivoctas B 3
o, (c) Fines <@
(¢) Reminder advertising. L .
(@) Non-personal adve :
(31-CG) i




